THE6EE ($48E) BHARTIFaLTINLIEFHERE F=FE

SHM6ES5H248 €£EH FRIILIYST #HHa—X

JNE L K4 X ouTt IN TOTAL JNE 32 K4 X ouTt IN TOTAL
1 FafE —{& wH 36 37 73 41 AIE FE &L 43 42 85
2 =HM #Hit = 37 38 75 42 =R B =BH 41 44 85
3 2l EE I FH 38 39 77 43 ER 3% g 41 44 85
4 M AR & 36 41 77 44 HEA #BE &L 41 44 85
5 BA BZ wH 39 39 78 45 a5 B = 45 41 86
6 BT X& & 37 41 78 46 TH B= Hho | 43 43 86
7 EH FE &H 38 41 79 47 R B El§o) 43 43 86
8 2 ®p & 38 41 79 48 f&8f 1Ex = 42 44 86
9 FHE EKRER 5T 42 38 80 49 Hi Ez B 40 46 86
10 RO % I+ 41 39 80 50 A8 RBR & 38 48 86
11 B R fBHF™H | 45 36 81 51 55 I = 48 39 87
12 e f&m HETET | 40 41 81 52 He =B 5T 47 40 87
13 Zh 8 HhHo 40 41 81 53 ER - &L 46 41 87
14 T BEA 5T 38 43 81 54 L& 7 g 44 43 87
15 Nim Bz BBy | 38 43 81 55 FilE2 B 43 44 87
16 Fiz BEE & 43 39 82 56 =HEM Ex | HaEr | 4 46 87
17 hHE M E 42 40 82 57 BEK BEX B 46 42 88
18 WE E EIRET | 4 41 82 58 EAN gEX 5T 44 44 88
19 [R —&h = 40 42 82 59 INEF f9iE &L 48 4 89
20 il &E BB | 37 45 82 60 B K& B 45 44 89
21 = #Be =B 44 39 83 61 HHF E=HR = 45 44 89
22 BAER ik KEF | 43 40 83 62 B & wH 44 45 89
23 1BiE EifE = 42 41 83 63 K fth & 44 45 89
24 H E# HhHo 42 41 83 64 Fi R (=R 44 45 89
25 P EXEX =BHF 41 42 83 65 BH FXRE & 43 46 89
26 A0 kig = 41 42 83 66 g K& & 43 46 89
27 MR fE— R 40 43 83 67 HEH NE e 39 50 89
28 | {&E4<K IEAI =BH 39 44 83 68 B #ne =BH 49 41 90
29 RE g4 INE 39 44 83 69 & 8 KFEF | 47 43 90
30 R Bz B 38 45 83 70 EH BEX B 46 44 90
31 BB AE = 47 37 84 71 EH E— &L 45 45 90
32 )l =T B 44 40 84 72 He F T3 45 45 90
33 £H FL HEr | 43 41 84 73 AR BE KEF | 44 46 90
34 R F2 K | 43 41 84 74 full B = 44 46 90
35 (1T N BH 42 42 84 75 nNg E= = 44 46 90
36 AXHF BX wH 41 43 84 76 sy BE = 43 47 90
37 FiR = R 41 43 84 77 B &= B 42 48 90
38 BL & =H 41 43 84 78 =E ME WFH 42 48 90
39 BH FAa R FH 44 41 85 79 MR &7 w3 42 48 90
40 HH RS = 43 42 85 80 O #FE BB | 4 49 90




SH6EE ($48M) BHETZIFLT7IILIEFHEKRE Fi&E
SH6ES58248 £BER FRIILIYST #Ha—X

JNE L K4 X ouTt IN TOTAL JNE 32 K4 X ouTt IN TOTAL
81 BK Z=Xx | #Em | 39 51 90 121 WEH ERE &L 47 51 98
82 f2H I &L 48 43 91 122 =R MR & 45 53 98
83 A HHLY | 46 45 91 123 B xR = 52 47 99
84 R s & 45 46 91 124 INE HiE =BH 49 50 99
85 Et+E #E = 45 46 91 125 =% % Marth | 47 52 99
86 g % R+ 44 47 91 126 FiE &% B 1L 47 52 99
87 BT & =BH 42 49 91 127 = Rt Hho | 53 47 100
88 b FEER I FH 51 41 92 128 =28 Fx & 50 50 100
89 Wi BA &H 46 46 92 129 T WFH 47 53 100
920 M2 i HE 45 47 92 130 A Zh & 45 55 100
91 £ R =BH 44 48 92 131 28 XA BH 55 46 101
92 X5 ®— =H 43 49 92 132 I BE =BH 51 50 101
93 Ei W IES R FH 50 43 93 133 HBE E— B 51 50 101
94 A Bt & 48 45 93 134 AKX &— & 52 50 102
95 Et+E B— B 45 48 93 135 il FEth = 51 51 102
96 nEX 24 & 43 50 93 136 Z#R FH & 48 54 102
97 f=H R-— HETT | 49 45 94 137 MK &R B 48 54 102
98 ERK RE & 47 47 94 138 o 5% HhHo | 55 48 103
99 BL = B 47 47 94 139 Af BEE KFF | 53 50 103
100 FEH T & 46 48 94 140 wE Eth &L 48 56 104
101 nkt &% R FH 45 49 94 141 | Wl E=ER R 51 55 106
102 Lt B— & 45 49 94 142 FH E— = 50 58 108
103 mil X& HEh | 43 51 94 143 hH #044 5T 61 51 112
104 P BF = 50 45 95 144 & &5h fimiT 60 54 114
105 Bl s = 46 49 95 145 by i | mH 56 58 114
106 "R —E = 43 52 95 146 fitiE BB XFEF | 51 64 115
107 Mg Ex & 42 53 95 147 =H &L 65 55 120
108 W HE =BH 48 48 96 148 hR HE BE 58 66 124
109 e &8 = 47 49 96

110 | B4t ZRER wH 47 49 96

111 BE R & 45 51 96 S8ETTEER

112 hNF BE R FH 48 49 97

113 mgE RE T 48 49 97

114 R Ef B 47 50 97

115 PRH B 3 45 52 97

116 e EE =HF 51 47 98

17 iR EHE & 49 49 98

118 i) =S e wH 49 49 98

119 K BE BHL | 49 49 98

120 e HE = 48 50 98




